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Small-test problems

HW11/1
A cilinder having moment of inertia ® can easily rotate around a fixed axis. The Hamiltonian of

the system is
2

p
H(p,p )=
(p,p,) 6

a.) Write down the Hamilton-Jacobi equation for the system.
b.) Following the usual separation S(¢,?)=S,(¢p, E)— Et write down the shortened Hamilton

Jacobi equation for Sp.
c.) Solve the shortened equation, i.e. express the solution S, (¢, E)

d.) At the t=0 moment the cilinder is in the position ¢ =0, and has angular momentum
p, =L . Using this information determine the values of the constants of motion £ and

oS
a5 P
e.) From the results of d.) determine the ¢(z) solution of the equations of motion.

HW11/2
The Hamiltonian of a free relativisticly fast particle is

H(x,p)=+m’c" + pc’.
a.) Write down the Hamilton-Jacobi equation for the system.

b.) Following the usual separation of time, by introducing the constant E, write down the
shortened Hamilton-Jacobi equation.

c.) Solve the shortened equation. Determine also the solution of the full Hamilton-Jacobi
equation.

d.) Determine Sz , the canonical pair of E.




Problems for practice

Pr11/1
A particle can move along the x axis. An external force that increases linearry in time acts on the

particle, therefore the Hamiltonian of the system is
2

H(x,p,t)= L
2m

a.) Write down the Hamilton-Jacobi equation for the system.

b.) The Hamilton function depends explicitly on time, therefore we cannot follow the usual
separation technique. Try the following form instead,
S(x,t)=F(t)x+G(t).
Substitute this in the Hamilton-Jacobi equation.

c.) Collect the terms of the equation in the form x (something ,)+something , =0 where the

two ,,somethings” do not depend on x.

d.) In order to find the solution of the equation, both the two ,,somethings™ must equal zero
(why?). Using this, determine the functions F(z) and G(t). If your calculation is correct, an
integration constant appears. Denote it by o.

e.) Write down the solution S(x,a,7). In the moment 7=0 the particle is in xp=0 and has
momentum py=0. Using this information determine the value of c.

. . . oS . : :
f.) According to the Hamilton-Jacobi theory, S = 0 is also a constant of motion. Express its
a
value using the initial conditions.

g.) Fromthe f = Z—S equation determine the x(?) solution of the equation of motion.
a

Pr11/2

In the class we have considered the particle in gravitational field. The Hamiltonian is
2

H(p,x)zp—+mgx
2m

In the usual Hamilton-Jacobi approach we search a 2nd type generator function S(x, o, ) that makes
the new Hamiltonian zero. Then we exploit the fact that the new momentum a is a constant of
motion. However, this is not the only possible choice.

. . . . oS
In this problem we consider a 3rd type generator function S(p, ). In this case x=——.

op

a.) Write down the Hamilton-Jacobi equation: H(p,— Z—S) + Z—S =
p t

b.) Separate the time, using S(p,?)=S,(p,E)—Et. Write down the shortened Hamilton-

Jacobi equation for S.

¢.) Solve the equation, and express the function Sy(p, E).

d.) At the moment =0 the particle starts from the position x=0 having momentum p,. Express
the value of the constant .

0

. oS . : ) . .
e.) The quantity / =£ is also a constant of motion. Express its value using the initial

conditions.
f.) Determine the x(?) function.



MECHANIKA 2 (2017/18 tavasz) | HF11 |

KisZh-an szerepelheto feladatok

HF11/1
Egy © tehetetlenségi nyomatékt tarcsa egy tengelyhez van rogzitve, ami kortil konnyen
elfordulhat. A rendszer Hamilton-figgvénye:
2
P
H(p,p )=
(@.p,) =55

a.) Irja fel a rendszer Hamilton-Jacobi egyenletét!
b.) A szoksasos S(@.t)=S,(p,E)— Et szeparalast alkalmazva irja fel az Syp-ra vonatkozd

roviditett Hamilton-Jacobi egyenletet!
c.) Oldja meg az egyenletet, adja meg az S, (¢, E) fliggvényt!
d.) At = 0 id6pontban a tarcsaa ¢ =0, p, =L kezdeti feltételekkel indult. Ez alapjan adja

meg az £ ésa % = [f mozgasallandok értékét!

e.) A d.)-ben kapott egyenletekbdl fejezze ki a tarcsa mozgasat leird ¢(¢) figgvényt!

HF11/2
Egy relativisztikusan gyors, szabad részecske Hamilton fuggvénye az alabbi alaku,

H(x, p)=+m’c" + p*c’
a.) Irja fel a rendszer Hamilton-Jacobi egyenletét!
b.) Az id6fliggés szokasos szeparaldsaval, az E konstans bevezetésével irja fel a roviditett
Hamilton-Jacobi egyenletet.

c.) Adja meg a roviditett €s a teljes Hamilton-Jacobi egyenlet megoldasat.
d.) Hatarozza meg az E-hez tartoz6 kanonikusan konjugalt S impulzust




Gyvakorlofeladatok

Gyl1/1
Egy tomegpont az x tengely mentén mozoghat, rd idében linedrisan ndvekvo kiilsé eré hat. A

rendszer Hamilton-fuggvénye:
2

H(x, p,t)= L
2m

a.) Irja fel a rendszer Hamilton-Jacobi egyenletét!

b.) Mivel a Hamilton-fliggvény explicit moédon fligg az idotél, a szokasos szeparalast
kozvetleniil nem tehetjiik meg. Probalkozzon az alabbi alakkal:

S(x,t)=F(t)x+G(t)!
frja fel a Hamilton-Jacobi egyenletet ezt az alakot feltételezve!

c.) Gyljtse dssze a tagokat ugy, hogy az egyenlet az x(valami ,)+ valami , =0 alakban alljon
elottiink, ahol a két ,,valami” mar nem fligg az x-t6l.

d.) Ahhoz, hogy az egyenletet megoldjuk, a két ,valami”-nek kiilon-kiilon zérusnak kell
lennie. (Miért is?) Ebbol a két feltételbdl adja meg az F(1) és G(t) fiiggvényeket! Ha jol
szamolt, megjelenik egy szabad integralasi konstans, ezt jelolje a!

e.) Irja fel az S(x,a,t) fiiggvényt! A =0 idépontban a tomegpont az xg=0 és pp=0 helyzetbél
indult. Ennek segitségével rogzitse az a konstans értékét!

f.) A Hamilton-Jacobi egyenlet szerint a f = Z_S mozgasalland6. Fejezze ki ennek értékét a
a
kezdeti feltételek segitségével!

g)A f= Z_S Osszefliggésbol fejezze ki a mozgasegyenlet x(7) megoldasat!
a

Gyl1/2

Gyakorlaton szerepelt a fliggdleges hajitas problémaja, aminek Hamilton-fliggvénye:
2

H(p,x)zp—+mgx
2m

A szokdsos Hamilton-Jacobi egyenletben ,,2”-es tipust S(x,a,7) alkotofiiggvényt keresilink, ami
z€russa teszi a Hamilton-fliggvényt, majd kihasznaljuk, hogy az o 0j impulzus mozgésalland6. Ez
azonban nem az egyetlen lehetséges valasztas.

Keressiink most ,,3”-as tipust S(p, @) alkotéfliggvényt! Ekkor x = —Z—S .
p
a.) Irja fel a Hamilton-Jacobi egyenletet: H(p,— g—S) + % =0
P

b.) Szeparalja az id6t az S(p,t) = S,(p, E)— Et alakban! frja fel az Sy-ra vonatkoz6 roviditett

Hamilton-Jacobi egyenletet!

¢.) Oldja meg az egyenletet, adja meg Sy(p, E) fliggvényt!

d.) A =0 idépontban a test az x=0 pontbdl indult p, impulzussal. Fejezze ki ennek
segitségével az E konstans értékét!

e) A f= ) mennyiség a Hamilton-Jacobi egyenlet értelmében idéallandé. Fejezze ki ennek
OE

értékét a kezdeti feltételek segitségével!
f.) Adja meg a mozgasegyenlet x(7) megoldasat!



